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B.Infinite Tree
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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

inline int read

int x=0,f=1;char c=getchar();

lisdigit(c c=='-"')f=-1;c=getchar();
isdigit(c) ) {x=x*10+c-'0"';c=getchar();
x*f;

const int maxN=100000;

int n,End, len,prime[maxN+10],mdiv [ maxN+10];
LL sum[maxN+10],ans;

PII almaxN*25];

void init

int i=2;i<=maxN;i++

Imdiv[i])prime[++End|=1i,mdiv/i]|=1i;
int j=1;j<=End && i*prime|j|<=maxN; j++

mdiv/[i*prime[j | |=prime(j|;
i%primelj == ;

bool cmp(PII a,PII b
a.X==b.X 7 a.Y<b.Y : a.X>b.X;

int main

init();
scanf("%d",&n) '=EOF
int i=1;i<=n;i++)sum/il=read(),sum[il+=sum[i-1];

len=0;ans=0;
int i=2;i<=n;i++

int tmp=i;
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tmp>

a/++len|=make pair(mdiv/ tmp!,1i);
tmp/=mdiv|[tmp];
ans+=sum/n|-sum|[i-1];

sort(a+l,a+len+l,cmp);
int 1=1,r=n;
int i=1;i<=len;++i

211*(sum[r]-sum/[1- <sum|n ;
alil.Y>r ;
int k=max(l,alil.Y);
211*(sum[r]-sum|k- >sum/n])ans-=211*%(sum[r]-sum|k- -
sum/nl,l=k;
r=k-1;

printf("slLld\n",ans);

D.Quadratic Form
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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

inline int read

int x=0,f=1;char c=getchar();

lisdigit(c c=='-"')f=-1;c=getchar();
isdigit(c)) {x=x*10+c-'0"';c=getchar();
x*f;

const int maxn=210,M0D=998244353;
int n;

LL almaxn][maxn<<l],b[maxn];

LL quickpow(LL a,int N,int mod

LL res=1,tmp=a;
N

N&1) res=(res*tmp)%mod;
tmp=(tmp*tmp)%mod;
N>>=1;

res;

LL Inv(LL a quickpow(a,MOD-2,MOD) ;
void gauss

int i=1l;i<=n;i++)/00000000000Oi-100000

int k=i;
int j=i+1l;j<=n;j++ aljllil=alk]l[i])k=j;/0000000000OO0
Ooodooodon
LL del=alk][i];
int j=i;j<=2*n;j++)swaplalil[jl,alki[j]);
int j=1i;j<=2*n;j++)alil[jl=(alil[j ! *Inv(del) %MOD;
int j=1;j<=n;j++
jr=1i

del=aljlli];
int k=i;k<=2*n;k++)aljlkl=(aljlk]-
alil[k!*del+(LL)MOD*(LL)MOD)%MOD;
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int main
scanf("%d",&n) '=EOF
int i=1;i<=n;i++
int j=1;j<=n;j++)alil[jl=read();
int j=n+l;j<=2*n;j++)alil[j]=0;
alilli+n]=1;
int i=1;i<=n;i++)bl[il=read();
LL ans=0;
gauss();

int i=1;i<=n;i++
int j=1;j<=n;j++)ans=(ans+alil[j+n|*b[1i|%MOD*b[j|)%MOD;
printf("slLld\n",ans);

0;

H.Minimum-cost Flow
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#include<iostream>
#include<cmath>
#include<queue>
#include<cstdio>
#include<cstring>
#include<algorithm>
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#define LL long long int
#define REP(i,n) for (int 1
#define Redge(u) for (int k
#define BUG(s,n) for (int i
using namespace std;
const int maxn = 55,maxm = 220,INF = 1000000000;
inline int read

int out = 0,flag = 1; char ¢ = getchar();

1; i <= (n); i++)
h[ul,to; k; k = ed[k].nxt)
1; i <= (n); i++) cout<<s[i]<<' '; puts("");

c <48 || ¢ > 57 == '-') flag = -1, c = getchar();

c >= 48 && c <= 57 out = (out << 3) + (out << 1) + c - '0"; C
= getchar();

out * flag;

int n,m,K,h[maxn],ne = 2,S,T,Q;

struct EDGE{int to,nxt,f,w; ed[maxm];

inline void build(int u,int v,int f,int w
ed/ne|] = (EDGE){v,hl[ul,f,w}; hlul = ne++;
edne! = (EDGE){u,h[v],0,-w}; hlv] = ne++;

int dimaxn!,minf[maxn|,p[maxn],ing/maxn|,ans|[110],len;
queue<int> q;
int mincost
int flow = 0,cost = 0;
true
int i =0; i<=T; i++) d[i] = INF,inq[i] = 0O;
d/S] = 0; minf[S] = INF;

g.push(S);
int u;
Iq.empty
u=q.front(); q.pop();
inglu] = false;
Redge(u ed k].f & dito = ed/k]/.to] > dlu] + ed[k].w

dito] = dlu] + ed[k].w; plto] = k; minf[to]| =
min(minflul,ed k! .f);
linq/to!) q.push(to),ingl/to] = true;

d/T! == INF ;
flow += minf[T];
cost += minf[T] * d[T];
ans|++len)=cost;
u=rT;
u'!=-5
edplul|.f -= minf[T];
edpiul ~ 1].f += minf[T];
u=-edplul ~ 1].to;

flow;
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int gcd(int a,int b
==0 7 a : gcd(b,a%b);

int main
int a,b,w,u,Vv;
scanf ("%d%d",&n,&m) !'=EOF

ne=2;
int i=1;i<=n;i++)h[i]1=0;
int i=0;i<m;i++)a=read(),b=read(),w=read(),build(a,b,1,w);

S=1;T=n; len=0;
int FLOW=mincost();
Q=read();

Q__

u=read();v=read();
double tmp=(double)v/(double)u;
tmp>(double) FLOW)printf (“NaN\n");

int ansl=ans|/v/ul*u,ans2=v;
v%U)ansl+=(ans|v/u+l]|-ans|v/ul)*(v%u) ;
printf("%sd/%d\n",ansl/gcd(ansl,ans2),ans2/gcd(ansl,ans2));

oot
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